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BOOKS - RD SHARMA MATHS (HINGLISH)

FACTORIZATION OF POLYNOMIAL

1. Show that (z —2) is a factor of the polynomial

f(z) = 22> — 3z® — 17z + 30 and hence factorize f(z)-

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FqyxDUhT2dwB

2. What must be added to 3z° + 2 — 222 + 9 so that the

result is exactly divisible by 3z + 7z — 67

o Watch Video Solution

1
3.If bothz —2and z — 2 are factors of p:c2 + dx + r,

show that p = 7.

° Watch Video Solution

4. Find the values of a and b so that the polynomial
z3 4+ 1022 4+ az + b is exactly divisible by  — 1 as well as

Tr — 2..

o Watch Video Solution



https://dl.doubtnut.com/l/_TAvbf2UashwV
https://dl.doubtnut.com/l/_A9PhuSyHGFnU
https://dl.doubtnut.com/l/_0FrRv57kI1Tg

5. For what values of a is 22° + az® + 11z + a + 3 exactly

divisible by (2 — 1) ?

o Watch Video Solution

6. Determine the value of a for which the polynomial

2z* — ax® + 42 + 2z + 1is divisible by 2z + 1.

o Watch Video Solution

7. Find the value of a and b so that the polynomial

z3 — az® — 13z + bhas (z — 1) and (z + 3) as factors.

o Watch Video Solution



https://dl.doubtnut.com/l/_0FrRv57kI1Tg
https://dl.doubtnut.com/l/_PHEcMjpMivOZ
https://dl.doubtnut.com/l/_3HCgbFZ4uMBM
https://dl.doubtnut.com/l/_JnWxajhpl7GZ

8. Without actual division prove that
2z — 623 + 322 +3x —2 is exactly division by

w2—3az—|—2.

o Watch Video Solution

9. Find the value of a, if £ —1 is a factor of

zc3—a2a:—|—:c—|—2.

o Watch Video Solution

10. If the polynomials az® + 32* — 13 and 22° — 5z + a,

when divided by (z — 2) leave the same remainder, find


https://dl.doubtnut.com/l/_JnWxajhpl7GZ
https://dl.doubtnut.com/l/_DDpkgLuZTPqW
https://dl.doubtnut.com/l/_goUl6W3lwVW0
https://dl.doubtnut.com/l/_2a26jA3d56Fu

the value of a .

° Watch Video Solution

11. Show that (z — 1) is a factor of ' — 1 and also of

A

° Watch Video Solution

12. Identify polynomials in the following:
(i) f(z) = 42> —x* — 3z + 7

(i) g(z) = 22° — 32° + T — 1

(i) p(z) = %:pz — gac +9

4
(iv) g(z) = 2z — 3z + o + 2


https://dl.doubtnut.com/l/_2a26jA3d56Fu
https://dl.doubtnut.com/l/_QfNfLExh1nt9
https://dl.doubtnut.com/l/_fK7le87ZRhIM

(v)h(:c)::c‘l—m%—i—w—l

3
i) f(z) =2+ = + 4z

° Watch Video Solution

13. Show that x =1 is a root of the polynomial

2¢% — 322 + 7z — 6

° Watch Video Solution

4. If z=—- is a root of the polynomial

f(z) = 6z — 112* + kx — 20, find the value of k

Ak=19

B.k =29


https://dl.doubtnut.com/l/_fK7le87ZRhIM
https://dl.doubtnut.com/l/_FyhOAA8doHtA
https://dl.doubtnut.com/l/_c9jKkplUwVXz

Ck=9

D.k =49

Answer: A

° Watch Video Solution

15. If x =2 and = =0 are roots of the polynomial

f(z) = 22> — 52 + az + b Find the values of a and b.

° Watch Video Solution

16. Which of the following expressions are polynomials in
one variable and which are not? State reasons for your

answer :


https://dl.doubtnut.com/l/_c9jKkplUwVXz
https://dl.doubtnut.com/l/_aPDS1aqngkBC
https://dl.doubtnut.com/l/_bSKbvZQ2TeST

(i) 3% — 4z + 15
(i) ¥ + 2¢/3

(ii)3y/z + /22

(iv) x — i
T

(v) z 12 + y3 + 50

° Watch Video Solution

17. Write the degrees of each of the following polynomials:
723 + 4z? — 3z + 12 (i) 12 — = + 223 (i) 5y — /2 (iv) 7

(v) O

o Watch Video Solution



https://dl.doubtnut.com/l/_bSKbvZQ2TeST
https://dl.doubtnut.com/l/_DXzotFe0mxAT

18. Classify the following polynomials as polynomials in
one-variable, two variables etc. :

(i) 2% — Ty + 7y2

(i) 2> — 2tz + T8> —x + ¢t

(iii) t* — 3¢> + 4t — 5

(iv) zy + yz + zx

o Watch Video Solution

19. Using factor theorem, factorize the polynomial

3 — 6z + 11z — 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_tg6KMW0qSV7s
https://dl.doubtnut.com/l/_yEq6kXquDD2U

20. Find the rational roots of the polynomial

223 + 322 — 11z — 6

o Watch Video Solution

21.If £ = 0 and x = — 1 are the roots of the polynomial

f(z) = 22° — 3% + az + b, find the value of a and b

o Watch Video Solution

22. if f(x) = zt —22% + 322 —azx + bis a polynomial such
that when it is divisible by x-1 and x+1 remainders are 5 and
19 respectively . determine remainder when it is divisible by

rz—1.



https://dl.doubtnut.com/l/_byW3ATPd4NRL
https://dl.doubtnut.com/l/_sg2pqnDolkoo
https://dl.doubtnut.com/l/_YYO3E5lQl6I3

I ° Watch Video Solution

23. Using factor theorem, factorize the polynomial

zt — 223 — 1322 + 142 + 24

° Watch Video Solution

24. Factorize : 2z% + 2% — 142> — 192 — 6

o Watch Video Solution

25. Without actual division, prove that
2z — bz’ + 22 —x +2 is  exactly divisible by

z2 — 3z + 2.



https://dl.doubtnut.com/l/_YYO3E5lQl6I3
https://dl.doubtnut.com/l/_YfU3Kk45iSYl
https://dl.doubtnut.com/l/_pnsPllLiEJ32
https://dl.doubtnut.com/l/_vBFol6m9rOU5

I ° Watch Video Solution

26. Factorize z° + 13z + 32z + 20, if it is given that

T + 2 is its factor.

° Watch Video Solution

27. If 22 — 1 is a factor of az® + bz® + cz® + dz + e,

showthata +c+e=0b+d

o Watch Video Solution

28. What must be added to z* + 22% — 222 + 2 — 1 so

that the result is exactly divisible by z® + 2z — 3.



https://dl.doubtnut.com/l/_vBFol6m9rOU5
https://dl.doubtnut.com/l/_oz8iwDejepgH
https://dl.doubtnut.com/l/_CRvyFPuCYwOg
https://dl.doubtnut.com/l/_3nwcbjfiAixD

I ° Watch Video Solution

29. Without actual division, prove that
z* + 223 — 222+ 22 —3 is  exactly divisible by

2 + 2z — 3.

o Watch Video Solution

30. If is a factor of each of the following two polynomials,
find the values of a in each case. 2 — 2az% + az — 1

® — 3z* — az® + 3az® + 2ax + 4

o Watch Video Solution



https://dl.doubtnut.com/l/_3nwcbjfiAixD
https://dl.doubtnut.com/l/_OqdDgPlSLdYU
https://dl.doubtnut.com/l/_mZbVcKYKdf6X

31 If f(z) = 2* — 22° + 322 —az + b is a polynomial
such that when1 it is divided by £ —1 and =z +1 ,

remainders are 5 and 19 respectively.

° Watch Video Solution

32. Using factor theorem, factorize each of the following

polynomials : z* 4 22> — 2 — 2

o Watch Video Solution

33. Use factor theorem to prove that (x+a) is a factor of

(z" + a™) for any odd positive integer n .

o Watch Video Solution



https://dl.doubtnut.com/l/_2oJyjAVqetp3
https://dl.doubtnut.com/l/_hpRrUJHUjcmL
https://dl.doubtnut.com/l/_xG3qw0HzlJDA

34.The polynomials az® + 32% — 13 and 2z° — 5z + a are
divided by x 4 2, if the remainder in each case is the

same, find the value of a

o Watch Video Solution

35. If the polynomials ax®+4z®+ 3z —4 and
x> — 4z + a leave the same remainder when divided by

(z — 3), find the value of a

o Watch Video Solution



https://dl.doubtnut.com/l/_xG3qw0HzlJDA
https://dl.doubtnut.com/l/_d9ayyOTUJW1Z
https://dl.doubtnut.com/l/_rmJVaI7HNX3D

36.Find the remainder when f(z) = z* — 62 4 2z — 4is

divided by g(z) = 3z — 1.

107

27
190

o6
179

79

5, 207
- 25

Answer: A

o Watch Video Solution

37.Find the remainder when p(z) = 4z* — 2z* + 142 — 3

o 1
is divided by g(z) = = — 3

| = |


https://dl.doubtnut.com/l/_Q6BsGntKAojh
https://dl.doubtnut.com/l/_c0myHzTpFEBk

I & Watch Video Solution ]
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38.Find the remainder when p(z) = z° — az® + 62 — a'is

divided by (z — a)-

° Watch Video Solution

39. Find the integral roots of the polynomial

flxz) = 2* + 62> + 11z + 6

° Watch Video Solution

40. What must be subtracted from z° — 622 — 152 + 80

so that the result is exactly divisible by z* + = — 127

| o |


https://dl.doubtnut.com/l/_c0myHzTpFEBk
https://dl.doubtnut.com/l/_CA6UezB6iMuH
https://dl.doubtnut.com/l/_kVPqjyydtG8A
https://dl.doubtnut.com/l/_WxTQt6YFhaRp

I & Watch Video Solution ]

41.1f z° + ax® — bz + 10 is divisible by z° — 3z + 2, find

the values of a and b.

° Watch Video Solution

42, What must be subtracted from
4z* — 223 — 62® + & — 5 so that the result is exactly

divisible by 2% + 2 — 1

o Watch Video Solution



https://dl.doubtnut.com/l/_WxTQt6YFhaRp
https://dl.doubtnut.com/l/_gnC1tHbeP6c1
https://dl.doubtnut.com/l/_XwsrueogHiAy

43, If the polynomials 2z*+az®+3z—5 and
z2 + 22 — 4z + a leave the same remainder when divided

by x — 2, find the value of a.

° Watch Video Solution

44, Factorize 92° — 272% — 100z + 300, if it is given that

(3z + 10) is a factor of it.

o Watch Video Solution

45. Using factor theorem, factorize each of the following

polynomials : z* — 223 — 72% + 8z + 12

o Watch Video Solution



https://dl.doubtnut.com/l/_XCT2hCF2YxKh
https://dl.doubtnut.com/l/_vEazK3jMtoNO
https://dl.doubtnut.com/l/_vX56W57NUQT2

46. Using factor theorem, factorize each of the following

polynomials : 2z* — 72® — 13z? + 63z — 45

° Watch Video Solution

47. Using factor theorem, factorize each of the following

polynomials : 32 — 22 — 3z + 1

o Watch Video Solution

48. Using factor theorem, factorize each of the following

polynomials : 3 — 102% — 53z — 42

o Watch Video Solution



https://dl.doubtnut.com/l/_vX56W57NUQT2
https://dl.doubtnut.com/l/_cdA8x2xTNbbi
https://dl.doubtnut.com/l/_wRmp6uZJtNNv
https://dl.doubtnut.com/l/_ipHrtXJX3crZ

49, Using factor theorem, factorize each of the following

polynomials : * 4 13z* + 32z + 20

o Watch Video Solution

50. Using factor theorem, factorize each of the following

polynomials : z* 4 22> — 22 — 2

o Watch Video Solution

51. Which of the following expressions are polynomials in

one variable and which are not? State reasons for your


https://dl.doubtnut.com/l/_ipHrtXJX3crZ
https://dl.doubtnut.com/l/_XDX8rxZYqkTR
https://dl.doubtnut.com/l/_7rAiCVofNL88
https://dl.doubtnut.com/l/_mIDfTFo993Iv

answer : (i) 3z% — 4z + 15 (i) y* + 24/3 (ii)3,/Z + 2z

4
)z — — ) 12 % 4 20

o Watch Video Solution

52. Which of the following expressions are polynomials in
one variable and which are not? State reasons for your
answer : (i) 3z% — 4z + 15 (i) y* + 24/3 (ii)3,/Z + 2z

4
(Ve —— a4y’ -+t

° Watch Video Solution

53. Which of the following expressions are polynomials in

one variable and which are not? State reasons for your


https://dl.doubtnut.com/l/_mIDfTFo993Iv
https://dl.doubtnut.com/l/_ZJeEZoLz0qt9
https://dl.doubtnut.com/l/_wevbhZenT1WS

answer : (i) 3z° — 4z + 15 (ii) ¥* + 24/3 (ii)3\/Z + /22

4
(e —— Wz +y° +1"

° Watch Video Solution

54, Write the coefficient of z® in each of the following:

17 — 2z + Tz2 (i) 9 — 122 + z°

° Watch Video Solution

55. Write the coefficient of z? in each of the following:

%w2—3x—|—4(ii)\/§x—7

o Watch Video Solution



https://dl.doubtnut.com/l/_wevbhZenT1WS
https://dl.doubtnut.com/l/_B1ZH2FLCnzlG
https://dl.doubtnut.com/l/_lkEmkTvM5tHh
https://dl.doubtnut.com/l/_fPTPoyJIEBKX

56. Write the degrees of each of the following polynomials:
723 + 4x? — 3z + 12 (i) 12 — = + 223 (i) 5y — /2 (iv) 7

(v) O

o Watch Video Solution

57. Write the degrees of each of the following polynomials:
72 + 42? — 3z + 12 (i) 12 — = + 223 (i) 5y — /2 (iv) 7

(v) O

° Watch Video Solution

58. Classify the following polynomials as linear, quadratic,
cubic and biquadratic polynomials: = + 2 + 4 (ii)3z — 2

(iii) 2z + 2>


https://dl.doubtnut.com/l/_fPTPoyJIEBKX
https://dl.doubtnut.com/l/_4ek4lvaIvt4i
https://dl.doubtnut.com/l/_9Eo2ZMhKQnEg

(i), z + % + 4, it is quadratic polynomial.
(i)3x — 2,lt is a linear polynomial.

(iii) 2z + 22t is a linear polynomial.

o Watch Video Solution

59. Classify the following polynomials as linear, quadratic,
cubic and biquadratic polynomials: 3y (ii) 2+ 1 (i)

T+ 483 4+ 3t — 2

° Watch Video Solution

60. Classify the following polynomials as polynomials in
one-variable, two variables etc: z%— xy + 7y2 (i)

22— + T —x +t


https://dl.doubtnut.com/l/_9Eo2ZMhKQnEg
https://dl.doubtnut.com/l/_psN6a9SuoLkB
https://dl.doubtnut.com/l/_JvXsR4qamjYg

o Watch Video Solution

61. Classify the following polynomials as polynomials in
one-variable, two variables etc: # — 3t> + 4t — 5 (ii)

TY + 2y + zx

° Watch Video Solution

62. Identify  polynomials in the  following:

flz) =42° —2° — 32+ 7 g(z) =22° - 32° + Jz - 1

2 7 4
p(m)zng—zw—FQ q(m):2w2—3x—|—;—|—2

3
h(az):w4—w%—|—a3—1f(zc):2—|—;—|—4w

o Watch Video Solution



https://dl.doubtnut.com/l/_JvXsR4qamjYg
https://dl.doubtnut.com/l/_os63mqif34bV
https://dl.doubtnut.com/l/_E2lwPpK1co5n
https://dl.doubtnut.com/l/_5kvNXm54rrDZ

63. Identify  polynomials in the  following:

flz) =42° —2° — 32+ 7 g(z) =22° —32° + Jz — 1

2 2 7 ) 4
p(m)—gw—zw—FQ q(z) = 2z —3cc—|—;—|—2

2 3
h(a:):x4—x3+w—1f(w):2+z+4x

o Watch Video Solution

64. Identify  polynomials in the  following:

flz) =42> — 2> — 32 + 7 g(z) =22° — 32° + 7 — 1

2 7 4
p(z) = =22 — —x+9 glz) =222 — 3z + — + 2
3 4 x

h(m):w‘l—w%—l—m—l

o Watch Video Solution



https://dl.doubtnut.com/l/_5kvNXm54rrDZ
https://dl.doubtnut.com/l/_70AJIMCD51CP

65. Identify constant, linear, quadratic and cubic
polynomials from the following polynomials: f(x) = 0 (ii)

g(z) =22° — Tz + 4

o Watch Video Solution

66. Identify constant, linear, quadratic and cubic
polynomials from  the following polynomials:

h(z) = —3x+%(ii)p(m):2w2—w—|—4

° Watch Video Solution

67. Identify constant, linear, quadratic and cubic

polynomials from  the  following polynomials:


https://dl.doubtnut.com/l/_6slWpRyzmrd4
https://dl.doubtnut.com/l/_8CYHM33ikia9
https://dl.doubtnut.com/l/_azzAGT2TWCpI

q(z) = 4z + 3 (i) r(z) = 3> + 42® + 5z — 7

° Watch Video Solution

68. Give one example each of a binomial of degree 35 and

of a monomial of degree 100.

o Watch Video Solution

69. If f(z) =2z> — 132> + 17z + 12, find f(2) (i)

f(=3)

o Watch Video Solution



https://dl.doubtnut.com/l/_azzAGT2TWCpI
https://dl.doubtnut.com/l/_IwzfQWKKwpTQ
https://dl.doubtnut.com/l/_Hf7uUxSc04XS

70. Show that z =1 is a root of the polynomial

2¢% — 322 + Tz — 6

o Watch Video Solution

7. If z=—- is a root of the polynomial

f(z) = 62> — 112% + kx — 20, find the value of k

° Watch Video Solution

72. If x =2 and x =0 are roots of the polynomial

f(z) = 22° — 52® + az + b. Find the values of a and b.

o Watch Video Solution



https://dl.doubtnut.com/l/_kz0kUkP5cBAS
https://dl.doubtnut.com/l/_OXehFmIDvaFL
https://dl.doubtnut.com/l/_3o9KJK0Hh94l

73. Find the integral roots of the polynomial

f(z) = 2° — 62> + 11z — 6

o Watch Video Solution

74. Find the rational roots of the polynomial

2¢% 4+ 322 — 11z — 6

° Watch Video Solution

75. Find the zero (root) of the polynomial in each of the

following cases: f(z) = x — 5 (i) g(x) =2z + 5

o Watch Video Solution



https://dl.doubtnut.com/l/_dsqeZSnbuDmS
https://dl.doubtnut.com/l/_mE55BvEtVpqg
https://dl.doubtnut.com/l/_RIWmNWGVr0ev

76. Find the zero (root) of the polynomial in each of the
following cases: (i)h(xz) =2z (i) p(z) =cx +d, #0

(iip(z) = ax, a #0

o Watch Video Solution

77. A& f(z) =223 — 13z + 17z +12 &, @

(i)  f(2)(@)  f(-3)(ii)  f(0) @A HISC |

o Watch Video Solution

78. Verify whether the indicated numbers are zeros of the

polynomials corresponding to them in that cases:

1
flz) =3z+1, z = ~-3



https://dl.doubtnut.com/l/_5mSY61hbK0Ua
https://dl.doubtnut.com/l/_Svv7h0Jwdg4e
https://dl.doubtnut.com/l/_5E5L2rW105LH

I ° Watch Video Solution

79. Verify whether the indicated numbers are zeros of the
polynomials corresponding to them in that cases:

flx)=2*-1,z=1, —1

o Watch Video Solution

80. Verify whether the indicated numbers are zeros of the

polynomials corresponding to them in that -cases:

2 2
g(z) = 32> -2, z = —

V33

o Watch Video Solution



https://dl.doubtnut.com/l/_5E5L2rW105LH
https://dl.doubtnut.com/l/_T98vvkuZlAd0
https://dl.doubtnut.com/l/_KYkyXXdLejG3

81. Verify whether the indicated numbers are zeros of the
polynomials corresponding to them in that cases:

p(r) =2 — 62>+ 11z —6, 2 =1, 2, 3

o Watch Video Solution

82. Verify whether the following are zeroes of the

polynomial, indicated against them. (1)

L . 4 ..
p(z) =3z +1,z= — 3 (i) p(z) = b5 — 7,z = 5 (iii)
pz)=2>—-1l,z=1, —1 (iv)
p(z) = (z+1)(z+2),z= —1,2(\pz) =2z =0

(vii)

W p(z) = b m, = — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_bSi9r4IqMTG4
https://dl.doubtnut.com/l/_ZDYKpRLTZ8wt
https://dl.doubtnut.com/l/_uk5teeRyhUBo

83. Verify whether the indicated numbers are zeros of the

polynomials corresponding to them in that cases:

o Watch Video Solution

84. Verify whether the indicated numbers are zeros of the

polynomials corresponding to them in that cases:

o Watch Video Solution

85. Verify whether the indicated numbers are zeros of the
polynomials corresponding to them in that cases:

1
f(:l:):2:1:—|—1,:13:§

.Y l


https://dl.doubtnut.com/l/_uk5teeRyhUBo
https://dl.doubtnut.com/l/_kUr6QCaQynhx
https://dl.doubtnut.com/l/_VZvfXRKV9QGA

| ¥ Vvatch Video Solution J

8. If =2 is a root of the polynomial
f(z) = 22% — 3z + Ta, find the value of a

if z=2 f(z)=0

o Watch Video Solution

1
87. If == — 3 is a zero of the polynomial

p(z) = 82> — az® — z + 2, find the value of @

° Watch Video Solution



https://dl.doubtnut.com/l/_VZvfXRKV9QGA
https://dl.doubtnut.com/l/_Alkf4GXrcBgJ
https://dl.doubtnut.com/l/_ejdQHmTOWNj3

88.I1f = 0and z = — 1 are the roots of the polynomial

f(z) = 22> — 3z? + azx + b, find the value of a and b

o Watch Video Solution

89. Find the integral roots of the polynomial
flz) = 2° — 62> + 11z — 6

° Watch Video Solution
90. Find rational roots of the polynomial

flz) =22° + 2> — Tz — 6

Clearly f(x) is a cubic polynomial with integer coefficient.

o Watch Video Solution



https://dl.doubtnut.com/l/_cDAnVUp3lsKP
https://dl.doubtnut.com/l/_77M2In2dZIwq
https://dl.doubtnut.com/l/_znvPyxBGHAhu

ol Let p(z) = z* — 32> + 2z + 5. Find the remainder

when p(x) is divided by (z — 1).

o Watch Video Solution

92. Find the remainder when p(y) = 4* +v* + 2y + 3 is

divided by y + 2.

o Watch Video Solution

93. Find the reminder when, p(z) = r* — 322 + 22 +1,is

divided by (z — 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_znvPyxBGHAhu
https://dl.doubtnut.com/l/_6SEqhvECsVd2
https://dl.doubtnut.com/l/_mIU3BDR1Crl7
https://dl.doubtnut.com/l/_tiJH3zdL2ZLx
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94. Find the remainder when p(z) = z* — az® + 6z — a

is divided by (z — a)-

° Watch Video Solution

95. Find the remainder when the polynomial f
f(z) = 2z* — 623 + 222 —x +2 is divided by z + 2

divisor

o Watch Video Solution

96. Find the remainder when

p(z) = 4z — 122 + 14z — 3 is divided by


https://dl.doubtnut.com/l/_tiJH3zdL2ZLx
https://dl.doubtnut.com/l/_SedDGtuHthfM
https://dl.doubtnut.com/l/_BoJxOMOkiUFk
https://dl.doubtnut.com/l/_IqOdZJcJMF7u

o Watch Video Solution

97.Find the remainder when f(z) = z® — 62% 4+ 2z — 4is

divided by g(z) = 3z — 1.

o Watch Video Solution

98.Find the remainder when f(z) = z* — 62> 4 2z — 4is

divided by g(z) = 3z — 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_IqOdZJcJMF7u
https://dl.doubtnut.com/l/_9avqPYlPHLag
https://dl.doubtnut.com/l/_qKW8NI1GPwhz

99. If the polynomials axz® +4z®+ 3z —4 and
x> — 4z + a leave the same remainder when divided by

(z — 3), find the value of a.

o Watch Video Solution

100. The polynomials az® + 3z*> — 13 and 2z%® — 5z + a
are divided by z + 2, if the remainder in each case is the

same, find the value of a-

° Watch Video Solution

101. Let R; and R, are the remainders when the

polynomials z* 4+ 2z* — 5az — 7and 2° + az® — 12z + 6


https://dl.doubtnut.com/l/_oPe9Na52wKte
https://dl.doubtnut.com/l/_C6eT9s5lhhw3
https://dl.doubtnut.com/l/_gikxMxe3NS44

are divided by x4+ 1 and z —2 respecti-vely. If

2R, + R, = 6, find the value of a-

° Watch Video Solution

102. If f(z) = z* — 22 4 32> — az + b is a polynomial
such that when it is divided by x — 1 and = + 1, the
remainders are respectively 5 and 19. Determine the

remainder when f(x) is divided by (z — 2).

o Watch Video Solution

103. f(z) = 2° + 42® — 32 + 10, g(z) = = + 4

° Watch Video Solution



https://dl.doubtnut.com/l/_gikxMxe3NS44
https://dl.doubtnut.com/l/_9358YIkNxAZd
https://dl.doubtnut.com/l/_XBX4B94eplXZ

104. §gUG f (x ) I §gUG g (x ) & fAuifard & w A9thet 7Y
bl TG A VB id HIfSIv dYT aRome i i grRdafds
Wt gRT it IS |

flz) =4a* —32° — 22 + 2 — 7, g(z) =z — 1

° Watch Video Solution

105. f(x) = 4z® — 122 + 14z — 3, g(z) = 2z — 1

o Watch Video Solution

106. f(x) = 2° — 62% + 22 — 4, g(z) =1 — 2z

° Watch Video Solution



https://dl.doubtnut.com/l/_vO2aCGChck2n
https://dl.doubtnut.com/l/_kLB0W78uRrPg
https://dl.doubtnut.com/l/_3i3h4C21PiIS

107. Find the remainder when f(z) = z* —32z% +4 is

divided by g(z) = = — 2is.

° Watch Video Solution

2
108. f(z) = 92° — 32" + 2 — 5, g(x) =z — 3

o Watch Video Solution

x2 xT 2 2
100. f(x) = x4—i—2:133—————|—— r) =2+ —
f() 3 3 9 27’9() 3

o Watch Video Solution



https://dl.doubtnut.com/l/_ICbiMWlZwhce
https://dl.doubtnut.com/l/_ivtF3eo5qosy
https://dl.doubtnut.com/l/_AErlg0UrQcKe

110. If the polynomials az® + 3z> — 13 and 2z% — 5z + a,
when divided by (z — 2) leave the same remainder, find

the value of a .

o Watch Video Solution

M. The polynomials az® + 32> — 3 and 2z® — 5z +a
when divided by (z — 4) leave the remainders RjandR,
respectively. Find the values of a in each of the following

cases,if R{y = Ry (i) Ry + Ry = 02R; — Ry =0

o Watch Video Solution



https://dl.doubtnut.com/l/_ABBBRjqFDFow
https://dl.doubtnut.com/l/_rXwioJrIMy5k

112. If the polynomials az® + 3z> — 13 and 2z% — 5z + a,
when divided by (z — 2) leave the same remainder, find

the value of a

° Watch Video Solution

113. Find the remainder when z* + 32 + 3x + 1is divided

by (i) z + 1 (ii) z — %(iii)w(iv)w+7r(v)5—|—2:c

o Watch Video Solution

114. Find the remainder when z° + 3> +3x+1 is

divided by (i) z + 1 (ii) ¢ — % (i) z (iv) x + 7 (v) 5 + 2z

o Watch Video Solution



https://dl.doubtnut.com/l/_kVQyMn3FpQkB
https://dl.doubtnut.com/l/_BUSlkjd6K9Bc
https://dl.doubtnut.com/l/_Mhst0queLwpJ

115. Show that (z — 3) is a factor of the polynomial

23 — 322 + 42 — 12

o Watch Video Solution

116. Show that (z — 1) is a factor of ' — 1 and also of

R

o Watch Video Solution

17. Show that =z +1 and 2x — 3 are factors of

2333—9332—|—:c—|—12

o Watch Video Solution



https://dl.doubtnut.com/l/_Mhst0queLwpJ
https://dl.doubtnut.com/l/_4O5yP8CA1FPP
https://dl.doubtnut.com/l/_C73e29sVaV66
https://dl.doubtnut.com/l/_kqr28Pn1f4Sn

118. Without actual division prove that
2z — 623 + 32> + 3z —2 is exactly divisible by

w2—3a:—|—2is

° Watch Video Solution

19. Find the value of a, if £ —a is a factor of

a:3—a,2:c—i—:c—|—2

o Watch Video Solution

120. Find the value of k, if x+3 is a factor of

3z% + kz + 6.



https://dl.doubtnut.com/l/_kqr28Pn1f4Sn
https://dl.doubtnut.com/l/_s2k3B2axgyXA
https://dl.doubtnut.com/l/_AoNqzn9t4ckY
https://dl.doubtnut.com/l/_pGBECcwIWTRX

I ° Watch Video Solution

121. Determine the value of a for which the polynomial

2z* — ax® + 4a® + 2z + 1is divisible by 1 — 2z

° Watch Video Solution

122. Find the value of a and b so that the polynomial

2> — ax® — 13z + bhas (z — 1) and (z + 3) as factors.

o Watch Video Solution

123. Find the values of a and b so that the polynomial

2> 4+ 102* 4 az + b is exactly divisible by z — 1 as well as


https://dl.doubtnut.com/l/_pGBECcwIWTRX
https://dl.doubtnut.com/l/_cH87o3vDXZBf
https://dl.doubtnut.com/l/_L2ZkwGjRtmMd
https://dl.doubtnut.com/l/_5Voci7LtsiaI

r — 2.

o Watch Video Solution

124. For what values of a is 2z° + az® + 11z +a + 3

exactly divisible by (2z — 1) ?

o Watch Video Solution

125.1f az® + bz? + = — 6 has = + 2 as a factor and leaves

a remainder 4 when divided by (x — 2), find the value of a

and b.

o Watch Video Solution



https://dl.doubtnut.com/l/_5Voci7LtsiaI
https://dl.doubtnut.com/l/_csBO30IzYmD4
https://dl.doubtnut.com/l/_izKs2g93vGxA
https://dl.doubtnut.com/l/_dr8NAZitrTrN

1
126.If both z — 2and z — 3 are factors of pz? + 5z + 7,

show that p = 7.

° Watch Video Solution

127. If 22 — 1 is a factor of az* + bz + cz® + dz + e,

showthata +c+e=0b+d

° Watch Video Solution

128. Without actual division, prove that
2z — 5x3 + 222 —x +2 is  exactly divisible by

:c2—3a:—|—2.

° Watch Video Solution



https://dl.doubtnut.com/l/_dr8NAZitrTrN
https://dl.doubtnut.com/l/_20IEzDH6wo7i
https://dl.doubtnut.com/l/_zL6PubyvEnWf

129. Without actual division, prove that
z* +22° — 222+ 2z —3 is exactly divisible by

2 + 2¢ — 3.

° Watch Video Solution

130. In each of the following polynomials, find the value of

aifx + aisafactor: 2 + az®> — 2z +a + 4

o Watch Video Solution

131.In each of the following polynomials, find the value of a

4

ifz + aisafactor: z* — a’z2 + 3z — a

o Watch Video Solution



https://dl.doubtnut.com/l/_6dDKX5oI2XAl
https://dl.doubtnut.com/l/_ZZm0xjZw8Cam
https://dl.doubtnut.com/l/_lNB3P0A2VFKV

132. Use factor theorem to verify that = + a is a factor of

z" + a" for any odd positive integer.

o Watch Video Solution

133. If f(z) = z* — 22 + 32® —az + b is a polynomial
such that when it is divided by £ — 1 and = + 1, the
remainders are respectively 5 and 19. Determine the

remainder when f(z) is divided by (z — 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_lNB3P0A2VFKV
https://dl.doubtnut.com/l/_qnD8F5Jo3lEo
https://dl.doubtnut.com/l/_y3it2MXlVn7U

134. What must be subtracted from
4z* — 223 — 62” + £ — 5 so that the result is exactly

divisible by 22% 4+ 2 — 1

o Watch Video Solution

135. What must be added to z* + 213 — 222 +x —1 so

that the result is exactly divisible by z* + 2z — 3.

o Watch Video Solution

136. f(z) = > — 62> 4+ 11z — 6;g(z) = = — 3

o Watch Video Solution



https://dl.doubtnut.com/l/_O5Lk6NOw6rfj
https://dl.doubtnut.com/l/_WX5tcFcytkGg
https://dl.doubtnut.com/l/_Eqj25B7oganj

137. f(z) = 32* 4+ 172 + 92> — 7Tz — 10;g(z) =z + 5

o Watch Video Solution

138. check whether g(x) is a factor of f(x) or not f(x)=

z® + 3z* — 2% — 322 + 5z + 15, g(x)=z + 3

o Watch Video Solution

139. f(z) = x° — 62> — 19z + 84, g(z) =2 — 7

o Watch Video Solution

140. f(z) = 3z° + z* — 202 + 12, g(z) = 3z — 2


https://dl.doubtnut.com/l/_nK8ev1iMjrLD
https://dl.doubtnut.com/l/_njnZSk9et1Yn
https://dl.doubtnut.com/l/_8YECCNrMOwiw
https://dl.doubtnut.com/l/_2rKJI8g1Bxw1

o Watch Video Solution

141. Using the remainder theorem, find out whether g(x) is
factor of f(x) or not?

flz) =22° —92* + = + 12, g(z) = 3 — 2z

o Watch Video Solution

142. f(z) = x> — 62% + 11z — 6, g(z) = * — 3z + 2

° Watch Video Solution

143. Show that (z — 2), (z + 3) and (z — 4) are factors of

z® — 322 — 10z + 24.


https://dl.doubtnut.com/l/_2rKJI8g1Bxw1
https://dl.doubtnut.com/l/_5oe5EXbdy5nq
https://dl.doubtnut.com/l/_rfcXqlSQH5vz
https://dl.doubtnut.com/l/_uQ3ZdDVyZWMB

o Watch Video Solution

144. Show that (z + 4), (x — 3)and (z — 7) are factors

of 23 — 622 — 192 + 84

° Watch Video Solution

145. For what value of a is (z —5) a factor of

2 — 322 +ax — 107

° Watch Video Solution

146. Find the value of a such that (z — 4) is a factor of

5z — 72? — ax — 28


https://dl.doubtnut.com/l/_uQ3ZdDVyZWMB
https://dl.doubtnut.com/l/_FaUjO24ikOJY
https://dl.doubtnut.com/l/_BNU5IhnYaXwV
https://dl.doubtnut.com/l/_NZvUFzpcJyZl

o Watch Video Solution

147. Find the value of a, if x4+ 2 is a factor of

4z* + 223 — 322 + 8z + 5a

o Watch Video Solution

148. Find the value of k if £ —3 is a factor of

K2z® — kx? + 3kz — k

° Watch Video Solution

149. Find the values of a and b, if 22 — 4 is a factor of

azt + 223 — 322 + bz — 4.


https://dl.doubtnut.com/l/_NZvUFzpcJyZl
https://dl.doubtnut.com/l/_0KMBr9ZrC8gX
https://dl.doubtnut.com/l/_7tr2K4TokR1A
https://dl.doubtnut.com/l/_L827t8GAZzFX

o Watch Video Solution

150. Find aand 8 , if x + 1and x + 2 are factors of

3 + 3z% — 20z + S

° Watch Video Solution

151. Find the values of pandq so that

z* + pa® + 22° — 3z + qis divisible by (z* — 1)

° Watch Video Solution

152. Find the values of a and b so that (z + 1)and (z — 1)

are factors of z* + az® — 322 + 2z + b


https://dl.doubtnut.com/l/_L827t8GAZzFX
https://dl.doubtnut.com/l/_NpUP7oOZEEEn
https://dl.doubtnut.com/l/_N5nzfBWIrh5p
https://dl.doubtnut.com/l/_7PW2Q9tjKjRq

o Watch Video Solution

153. If 2 + ax® — bz + 10 is divisible by z? — 3z + 2,

find the values of a and b

° Watch Video Solution

154. if (z+1) and (x—1) are factors of

p(z) = az® + z° — 2z + b find the values of a&b

o Watch Video Solution

155. What must be added to 2> — 322 — 12z + 19 so that

the result is exactly divisibly by 22 + & — 6 ?


https://dl.doubtnut.com/l/_7PW2Q9tjKjRq
https://dl.doubtnut.com/l/_xLIZK8bsxwj4
https://dl.doubtnut.com/l/_unl5A7wBYT4N
https://dl.doubtnut.com/l/_KDn470rekreb

o Watch Video Solution

156. What must be subtracted from z° — 622 — 15z + 80

so that the result is exactly divisible by 2% + z — 127

o Watch Video Solution

157. What must be added to 3z° + 22 — 22z + 9 so that

the result is exactly divisible by 3z + 7z — 67

° Watch Video Solution

158. If  — 2 is a factor of each of the following two

polynomials, find the values of a in each case. (i)


https://dl.doubtnut.com/l/_KDn470rekreb
https://dl.doubtnut.com/l/_19IDqaHnUGyK
https://dl.doubtnut.com/l/_aFT0KxlAOdET
https://dl.doubtnut.com/l/_wTviHEMMo1fq

2 — 20z’ +ax — 1 (i)

z® — 3z* — az?® + 3az> + 2ax + 4

° Watch Video Solution

159. In each of the following two polynomials, find the
value of a , if x—a is a factor: (i)
6

28 —ar® +2* —azr®+ 3z —a+ 2 (i)

:135—a2m3—|—2:c—|—a—|—1

° Watch Video Solution

160. In each of the following two polynomials, find the
value of a, if z 4+ a is a factor. (i) 2 +azr’? — 22 +a+4

(ii)ac4 —a’z’ +3z—a


https://dl.doubtnut.com/l/_wTviHEMMo1fq
https://dl.doubtnut.com/l/_1jqxbDcuGEbl
https://dl.doubtnut.com/l/_c5tk7OFIADJv

o Watch Video Solution

161. Show that (z —2) is a factor of the polynomial

f(z) = 22° — 3z® — 17z + 30 and hence factorize f(z)-

o Watch Video Solution

162. Using factor theorem, factorize the polynomial

2 — 622 + 11z — 6.

o Watch Video Solution

163. Using factor theorem, factorize the polynomial

w4—|—w3—7w2—w—|—6


https://dl.doubtnut.com/l/_c5tk7OFIADJv
https://dl.doubtnut.com/l/_nvRtyvkmeHHj
https://dl.doubtnut.com/l/_EQsHdzFfvOn1
https://dl.doubtnut.com/l/_npNZ8UA8vkmd

o Watch Video Solution

164. Using factor theorem, factorize the polynomial

z* — 223 — 1322 + 14z + 24

o Watch Video Solution

165. Factorize : 2z* + 2% — 1422 — 192 — 6

o Watch Video Solution

166. Factorize x® + 13z% + 32z + 20, if it is given that

T + 2is its factor.

° Watch Video Solution



https://dl.doubtnut.com/l/_npNZ8UA8vkmd
https://dl.doubtnut.com/l/_TcXoCzvK3OTO
https://dl.doubtnut.com/l/_1LjXZhp49aIG
https://dl.doubtnut.com/l/_BWYmWxmxDMez

167. Factorize 923 — 27z% — 100z + 300, if it is given that

(3z 4 10) is a factor of it.

o Watch Video Solution

168. using factor theorm factorize the following

3 + 622 + 11z + 6

o Watch Video Solution

169. Using factor theorem, factorize each of the following

polynomials : z* 4 22> — 2 — 2

° Watch Video Solution



https://dl.doubtnut.com/l/_BWYmWxmxDMez
https://dl.doubtnut.com/l/_6vzuf6hITseJ
https://dl.doubtnut.com/l/_AzgBzfKGL2Dk
https://dl.doubtnut.com/l/_24zxuVBTk8Ge

170. using factor theorm factorize the following

w3—6x2—|—3m—|—10

° Watch Video Solution

171. Using factor theorem, factorize each of the following

polynomials : * — 223 — 72? + 8z + 12

o Watch Video Solution

172. Using factor theorem, factorize each of the following

polynomials : z* — 223 — 72? + 8z + 12

° Watch Video Solution



https://dl.doubtnut.com/l/_24zxuVBTk8Ge
https://dl.doubtnut.com/l/_f5brmLUYDukv
https://dl.doubtnut.com/l/_smXPV9ZgVD1N
https://dl.doubtnut.com/l/_Ua2q0TB8L2Nz

173. Using factor theorem, factorize the following
polynomial  :  z* 4+ 10z + 3522 + 50z + 24  Let

f(z) = z* + 102* + 352 + 50z + 24

° Watch Video Solution

174. Using factor theorem, factorize each of the following

polynomials : 2z* — 7z* — 13z® + 63z — 45

° Watch Video Solution

175. Using factor theorem, factorize each of the following

polynomials : 32> — 22 — 3z + 1


https://dl.doubtnut.com/l/_Ua2q0TB8L2Nz
https://dl.doubtnut.com/l/_wS87XXBvAHBV
https://dl.doubtnut.com/l/_reSZU6QkUkE1
https://dl.doubtnut.com/l/_4xnZt9MNMEex

° Watch Video Solution

176. Factorise z° — 2322 + 142x — 120

o Watch Video Solution

177. Using factor theorem, factorize the following

polynomial : y° — 7y + 6

o Watch Video Solution

178. Using factor theorem, factorize each of the following

polynomials : z° — 102% — 53z — 42

° Watch Video Solution



https://dl.doubtnut.com/l/_4xnZt9MNMEex
https://dl.doubtnut.com/l/_5pmJpec0Nz4o
https://dl.doubtnut.com/l/_c3Wm8M6qcouN
https://dl.doubtnut.com/l/_hwh2rH77cr10

179. using factor theorm factorize the following

y® — 2% — 29y — 42

o Watch Video Solution

180. Using factor theorem, factorize each of the following

polynomials : z° — 102% — 53z — 42

o Watch Video Solution

181. Favtorisez® + 13z% + 32z + 20

° Watch Video Solution



https://dl.doubtnut.com/l/_hwh2rH77cr10
https://dl.doubtnut.com/l/_tiUnRs4Jok40
https://dl.doubtnut.com/l/_c5eCssiShyJ2
https://dl.doubtnut.com/l/_wHdPmE25fHvD

182. Factorise: (i) ° — 2z — = + 2 (ii)2® — 32> — 9z — 5
(iii)z® + 1322 + 322 + 20 (iv) 2y + y2 — 2y — 1
w3+ 22 —x — 2
=z (a:2— 1)— 2(:c2— 1)
z’-22°-z +2 = (2°-1)(z-2)
Using the identity:a® — b* = (a + b)(a — b)
L (2*-1) = (z + 1)(z-1)
= (z—1(z + 1)(xz — 2)
i)z® — 3z — 9z — 5
m(a:2 + 2x + 1) — 5((:132 + 2x + 1)
(z —5)(z” + 2z + 1)
The value of
z® + 13z% 4 32z + 20is(2° + 2” + 122° 4 12z + 20z + 20)
= z%(z + 1) + 12z(z + 1) + 20(z + 1)

= (z — 1)(2® + 12z + 20)


https://dl.doubtnut.com/l/_IibJuQDeUsbW

= (z — 1)(2® + 10z + 2z + 20)
= (z + 1)(z(z + 10) + 2(z + 10))
= (z + 1)(z + 2)(z + 10)

iv)Now Factorizing,2¢? + 3> 2y~ 1
=22y + 1) — 1(2y + 1)

= (2y+ 1) (1)

= (2y+ 1) (>~ 1?)

(y-13) = (y+ 1)(y-1)

(2y + 1) (y>-1?)

(2y+ 1)(y + 1)(y-1)

° Watch Video Solution

183. Factorize :2y° + y® — 2y — 1

° Watch Video Solution



https://dl.doubtnut.com/l/_IibJuQDeUsbW
https://dl.doubtnut.com/l/_M57ODQByp3TM

184. Factorize :z° — 222 — z + 2

o Watch Video Solution

185. Factorize : 2° + 1322 4 31z — 45 given that z + 9is a

factor

o Watch Video Solution

186. Factorize: 4% + 20z% + 33z + 18 given that 2z + 3 is

a factor

° Watch Video Solution



https://dl.doubtnut.com/l/_M57ODQByp3TM
https://dl.doubtnut.com/l/_AxdNOUpMMNue
https://dl.doubtnut.com/l/_ZVDrHXs7xnYe
https://dl.doubtnut.com/l/_5qqIHlN4RJ1k
https://dl.doubtnut.com/l/_Kwphp3X1lNA3

187. Zero of a Polynomial

° Watch Video Solution

188. If z=— is a zero of the polynomial

f(z) = 82> + az® — 4z + 2, find the value of @

° Watch Video Solution

189. Write the remainder when the polynomial

f(z) = 3 + 2 — 3z + 2is adivided by z + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_Kwphp3X1lNA3
https://dl.doubtnut.com/l/_wgimUw9b7n1u
https://dl.doubtnut.com/l/_d7OMCq87knyA

190. Find the remainder when z° —|—4a:2 +4x — 3 is

divided by x

° Watch Video Solution

191.1f z + 1is a factor of 2> + a, then write the value of a

o Watch Video Solution

192. If f(z) = 2* — 22° + 3z® — az — b when divided by

x — 1,the remainder is 6, then find the value of a + b

o Watch Video Solution



https://dl.doubtnut.com/l/_RVpiEbbtKYvf
https://dl.doubtnut.com/l/_EQ39A0Em2orv
https://dl.doubtnut.com/l/_se1OnUrUHR0V

193.1f z — 2 is a factor of z? + 3ax — 2a, then a = 2 (b)

—2(c)1(d) -1

o Watch Video Solution

194. If z° + 62° + 42 + k , is exactly divisible by (z + 2),

then the value of k is:

z+2=0z= —2
(=2°+6(-27+4(-2)+k=0
—8+24—84+k=0

8+k=0

k= —8

o Watch Video Solution



https://dl.doubtnut.com/l/_bVaWWMDjaUlI
https://dl.doubtnut.com/l/_PgtEkewHGth5

195.1f £ — a is a factor of 2° — 3z%a + 2a%z + b, then the
value of bis 0 (b) 2 (c) 1(d) 3

r—a=0z=a

a® — 3a*(a) +2a*(a) +b=0

—3a® +3a°> +b=0

b=0

° Watch Video Solution

196. If 20 + 22! + k is divisible by  + 1 , then the

value of k is=? (a)1 (b) —3(c) 2(d) —2

° Watch Video Solution



https://dl.doubtnut.com/l/_PgtEkewHGth5
https://dl.doubtnut.com/l/_m0ZZ5egUKqWo
https://dl.doubtnut.com/l/_6ePkIrOWOzB3
https://dl.doubtnut.com/l/_KLFDVabeiNW7

197. If +2 and x —1 are the factors of
23 4+ 1022 + mz + n, then the values of m and n are
respectively=? (a)b and —3 (b) 17 and —8 7 and —18 (d) 23

and —19

° Watch Video Solution

1
198. Let f(x) be a polynomial such that f( — 5) = 0,

then a factor of f(z) is:? (a)2z — 1 (b) 2z + 1 (c)x — 1 (d)

r+1

o Watch Video Solution

199. When z° — 222 + ax — b is divided by z* — 2z — 3,

the remainder is  — 6. The values of a and b are


https://dl.doubtnut.com/l/_KLFDVabeiNW7
https://dl.doubtnut.com/l/_jCRhAvXznr3r
https://dl.doubtnut.com/l/_8UYQtSOPImDf

respectively.

(a)—2, — 6

(d)2,6

o Watch Video Solution

200. One factor of z* + 22 -20is 2> + 5. The other

factorisz> —4(b)z — 4 (c) z®> — 5 (d)z + 2

° Watch Video Solution

201. If (z — 1) is a factor of polynomial f(x) but not of

g(z) , then it must be a factor of (a)f(x)g(z) (b)


https://dl.doubtnut.com/l/_8UYQtSOPImDf
https://dl.doubtnut.com/l/_tMeqM7tocNKi
https://dl.doubtnut.com/l/_CYgv4Hr4B0dR

—f(z) + g(z) (Of(z) — g(z) (d) {f(z) + g(z) }9(z)

if (x -1) is a factor of polynomial f(x) but not of g(x)

Then it must be a factor of multiplication of f(x) and g(x).
ie f(z)g(x)

.Option Ais correct.

° Watch Video Solution

202. (x+1) is a factor of x*n+1 only if (a)n is an odd integer
(b) n is an even integer (c )n is a negative integer (d)nis a

positive integer

o Watch Video Solution
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203.1f z + 2 is a factor of 2 + mz + 14, then m = (a)7
(b) 2(c)9(d) 14

x+2=0x= —2

(=22 +m(—-2)+14=0

4-2m+14 =0

2m = 18

m = 9 Hence c, is correct option.

o Watch Video Solution

204.1f x — 3is afactorof 2> — ax — 15,then a =

o Watch Video Solution
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205. If #2+x+1 is a factor of the polynomial
2
323 + 822 + 8z + 3+ 5k, then the value of k is O (b) 5

(C)g(d)—l

° Watch Video Solution

206. If
(3z — 1)7 = a7z’ + agz® + asz® + ... + a;z + ag then

the valueofay; + ag....... ag

o Watch Video Solution

207.1f z°! + 51 is divided by x + 1, the remainder is O (b)

1(c) 49 (d) 50
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If z°1 + 51 is divided by £ + 1,the remainder is O.
z+1=0z= -1
()™ +51

50 is correct answer.

o Watch Video Solution

208. If  + a is a factor of z* — a?z% + 3z — 6a, then

a= 0(b)—1(c)1(d)?2

o Watch Video Solution

209. Find the value of k if  —1 is a factor of

A3 + 322 — 4z + k

° Watch Video Solution
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210.If bothz — 2and z — 5 are factors of pz® + 5z + ,

show that p = r.

o Watch Video Solution

211. If 22 — 1 is a factor of az? + bz® + cz® + dz + e,
showthata +c+e =b-+d

Given ,z2> — 1is a factor of az* + bz® + cx® + dz + e

(z — 1)(z + 1) divides az* + bz + cz® + dz + e
When,x = 1l,a+b+c+d+e=0()

When,z = — 1,thena — b+ c— d + e = 0(ii

at+tct+e=b+d

° Watch Video Solution
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